
Postać ogólna Postać kanoniczna

Postać iloczynowa

𝑓 𝑥 = 𝑎𝑥2 + 𝑏𝑥 + 𝑐

Δ = 𝑏2 − 4𝑎𝑐

𝑥1 =
−𝑏 + 𝑏2 − 4𝑎𝑐

2𝑎

𝑥2 =
−𝑏 − 𝑏2 − 4𝑎𝑐

2𝑎
𝑓 𝑥 = 𝑎 𝑥 − 𝑥1 𝑥 − 𝑥2

𝑝 =
−𝑏

2𝑎
𝑞 = −

Δ

4𝑎 𝑓 𝑥 = 𝑎 𝑥 − 𝑝 2 + 𝑞

𝑃 =
𝑥1 + 𝑥2

2



Rozwiąż równanie.

𝑥2 + 5𝑥 + 6 = 0

𝑥2 − 5𝑥 − 14 = 0

𝑥2 + 4𝑥 − 12 = 0

𝑥2 + 11𝑥 + 18 = 0

𝑥2 − 12 = 𝑥

−𝑥2 + 5𝑥 = −5𝑥 + 16

−𝑥2 + 5𝑥 + 6 = 0

−4𝑥 + 12 = 𝑥2

−𝑥2 + 5𝑥 = −𝑥 + 9
−𝑥2 + 8 = 7𝑥

𝑥 + 3 2𝑥 − 5 = 14𝑥 − 8

2𝑥 − 3 2 − 21 = 𝑥

𝑥2 + 3𝑥 − 18 = 2𝑥 − 6 2𝑥 − 1

4𝑥 − 5 2 = 4𝑥2 − 9𝑥 + 5

2𝑥 2𝑥 + 3 = −9 − 6𝑥

𝑥 − 3 𝑥 + 3 = −𝑥 + 3

−10𝑥 − 40 = 4 − 𝑥 4 + 𝑥

3𝑥 + 2𝑥2 = 4

12𝑥 + 9𝑥2 + 4 = 0

12𝑥 − 1 = 36𝑥2

10 + 3𝑥2 = −7𝑥

2𝑥2 = 7𝑥 − 4

5𝑥 = 25𝑥2

4𝑥 3𝑥 − 5 = 0

𝑥2 = 3𝑥

2𝑥 − 6𝑥2 = 0

2𝑥 + 5 𝑥 − 4 = 0

3𝑥 + 12 𝑥 + 𝑦 = 0

𝑥 + 5 = 𝑥 + 5 𝑥 − 4

𝑥 − 5 𝑥 + 3 = 0

𝑥 + 4 2 − 8 = 28

𝑥 + 5 2 + 8 = −2

𝑥 + 3 2 + 16 = 0


